
� No.254B約両方-5-1 �

No.254B約両方-5-1 （ 点） （ 分 秒）

割り算して、商を上から 2けた答えなさい。割り切れなければ四捨五入しなさい。（１問 20点）

(1) 5124.8÷ 26.9 (2) 96.833÷ 8.13

(3) 347.93÷ 3.53 (4) 49937÷ 52.9

(5) 21.479÷ 0.749

� 13th-note �



� No.254B約両方-5-1 �

No.254B約両方-5-1 （ 点） （ 分 秒）

割り算して、商を上から 2けた答えなさい。割り切れなければ四捨五入しなさい。（１問 20点）

(1) 5124.8÷ 26.9
190
190 · · ·

(2) 96.833÷ 8.13
12
11.9 · · ·

(3) 347.93÷ 3.53
99
98.5 · · ·

(4) 49937÷ 52.9
940
943 · · ·

(5) 21.479÷ 0.749
29
28.6 · · ·

� 13th-note �



� No.254B約両方-5-2 �

No.254B約両方-5-2 （ 点） （ 分 秒）

割り算して、商を上から 2けた答えなさい。割り切れなければ四捨五入しなさい。（１問 20点）

(1) 391.15÷ 79.6 (2) 5.9964÷ 0.102

(3) 1.6865÷ 0.466 (4) 51111÷ 53.9

(5) 9.1691÷ 0.956

� 13th-note �



� No.254B約両方-5-2 �

No.254B約両方-5-2 （ 点） （ 分 秒）

割り算して、商を上から 2けた答えなさい。割り切れなければ四捨五入しなさい。（１問 20点）

(1) 391.15÷ 79.6
4.9
4.91 · · ·

(2) 5.9964÷ 0.102
59
58.7 · · ·

(3) 1.6865÷ 0.466
3.6
3.61 · · ·

(4) 51111÷ 53.9
950
948 · · ·

(5) 9.1691÷ 0.956
9.6
9.59 · · ·

� 13th-note �



� No.254B約両方-5-3 �

No.254B約両方-5-3 （ 点） （ 分 秒）

割り算して、商を上から 2けた答えなさい。割り切れなければ四捨五入しなさい。（１問 20点）

(1) 6.7415÷ 0.497 (2) 34.266÷ 3.08

(3) 63.369÷ 9.58 (4) 2348.7÷ 7.39

(5) 1390.3÷ 93.1

� 13th-note �



� No.254B約両方-5-3 �

No.254B約両方-5-3 （ 点） （ 分 秒）

割り算して、商を上から 2けた答えなさい。割り切れなければ四捨五入しなさい。（１問 20点）

(1) 6.7415÷ 0.497
14
13.5 · · ·

(2) 34.266÷ 3.08
11
11.1 · · ·

(3) 63.369÷ 9.58
6.6
6.61 · · ·

(4) 2348.7÷ 7.39
320
317 · · ·

(5) 1390.3÷ 93.1
15
14.9 · · ·

� 13th-note �



� No.254B約両方-5-4 �

No.254B約両方-5-4 （ 点） （ 分 秒）

割り算して、商を上から 2けた答えなさい。割り切れなければ四捨五入しなさい。（１問 20点）

(1) 69.344÷ 0.971 (2) 3575.8÷ 15.8

(3) 482.6÷ 7.96 (4) 685.38÷ 6.01

(5) 471.5÷ 19.7

� 13th-note �



� No.254B約両方-5-4 �

No.254B約両方-5-4 （ 点） （ 分 秒）

割り算して、商を上から 2けた答えなさい。割り切れなければ四捨五入しなさい。（１問 20点）

(1) 69.344÷ 0.971
71
71.4 · · ·

(2) 3575.8÷ 15.8
230
226 · · ·

(3) 482.6÷ 7.96
61
60.6 · · ·

(4) 685.38÷ 6.01
110
114 · · ·

(5) 471.5÷ 19.7
24
23.9 · · ·

� 13th-note �



� No.254B約両方-5-5 �

No.254B約両方-5-5 （ 点） （ 分 秒）

割り算して、商を上から 2けた答えなさい。割り切れなければ四捨五入しなさい。（１問 20点）

(1) 47.038÷ 0.392 (2) 2.1845÷ 0.772

(3) 2.1773÷ 0.827 (4) 10952÷ 48.4

(5) 46.932÷ 0.667

� 13th-note �



� No.254B約両方-5-5 �

No.254B約両方-5-5 （ 点） （ 分 秒）

割り算して、商を上から 2けた答えなさい。割り切れなければ四捨五入しなさい。（１問 20点）

(1) 47.038÷ 0.392
120
119 · · ·

(2) 2.1845÷ 0.772
2.8
2.82 · · ·

(3) 2.1773÷ 0.827
2.6
2.63 · · ·

(4) 10952÷ 48.4
230
226 · · ·

(5) 46.932÷ 0.667
70
70.3 · · ·

� 13th-note �



� No.254B約両方-5-6 �

No.254B約両方-5-6 （ 点） （ 分 秒）

割り算して、商を上から 2けた答えなさい。割り切れなければ四捨五入しなさい。（１問 20点）

(1) 108.86÷ 36.6 (2) 839.26÷ 5.82

(3) 413.5÷ 62.1 (4) 936÷ 21.2

(5) 1522.8÷ 98.6

� 13th-note �



� No.254B約両方-5-6 �

No.254B約両方-5-6 （ 点） （ 分 秒）

割り算して、商を上から 2けた答えなさい。割り切れなければ四捨五入しなさい。（１問 20点）

(1) 108.86÷ 36.6
3.0
2.97 · · ·

(2) 839.26÷ 5.82
140
144 · · ·

(3) 413.5÷ 62.1
6.7
6.65 · · ·

(4) 936÷ 21.2
44
44.1 · · ·

(5) 1522.8÷ 98.6
15
15.4 · · ·

� 13th-note �



� No.254B約両方-5-7 �

No.254B約両方-5-7 （ 点） （ 分 秒）

割り算して、商を上から 2けた答えなさい。割り切れなければ四捨五入しなさい。（１問 20点）

(1) 66.661÷ 0.763 (2) 938.18÷ 15.6

(3) 24.179÷ 0.811 (4) 574.76÷ 0.869

(5) 54.167÷ 9.17

� 13th-note �



� No.254B約両方-5-7 �

No.254B約両方-5-7 （ 点） （ 分 秒）

割り算して、商を上から 2けた答えなさい。割り切れなければ四捨五入しなさい。（１問 20点）

(1) 66.661÷ 0.763
87
87.3 · · ·

(2) 938.18÷ 15.6
60
60.1 · · ·

(3) 24.179÷ 0.811
30
29.8 · · ·

(4) 574.76÷ 0.869
660
661 · · ·

(5) 54.167÷ 9.17
5.9
5.90 · · ·

� 13th-note �



� No.254B約両方-5-8 �

No.254B約両方-5-8 （ 点） （ 分 秒）

割り算して、商を上から 2けた答えなさい。割り切れなければ四捨五入しなさい。（１問 20点）

(1) 9208.4÷ 33.4 (2) 153.4÷ 0.699

(3) 4830.5÷ 85.7 (4) 107.93÷ 40.9

(5) 5675.9÷ 26.4

� 13th-note �



� No.254B約両方-5-8 �

No.254B約両方-5-8 （ 点） （ 分 秒）

割り算して、商を上から 2けた答えなさい。割り切れなければ四捨五入しなさい。（１問 20点）

(1) 9208.4÷ 33.4
280
275 · · ·

(2) 153.4÷ 0.699
220
219 · · ·

(3) 4830.5÷ 85.7
56
56.3 · · ·

(4) 107.93÷ 40.9
2.6
2.63 · · ·

(5) 5675.9÷ 26.4
210
214 · · ·

� 13th-note �



� No.254B約両方-5-9 �

No.254B約両方-5-9 （ 点） （ 分 秒）

割り算して、商を上から 2けた答えなさい。割り切れなければ四捨五入しなさい。（１問 20点）

(1) 696.69÷ 98.6 (2) 12391÷ 83.4

(3) 17.509÷ 5.87 (4) 169.54÷ 0.412

(5) 808.09÷ 99.2

� 13th-note �



� No.254B約両方-5-9 �

No.254B約両方-5-9 （ 点） （ 分 秒）

割り算して、商を上から 2けた答えなさい。割り切れなければ四捨五入しなさい。（１問 20点）

(1) 696.69÷ 98.6
7.1
7.06 · · ·

(2) 12391÷ 83.4
150
148 · · ·

(3) 17.509÷ 5.87
3.0
2.98 · · ·

(4) 169.54÷ 0.412
410
411 · · ·

(5) 808.09÷ 99.2
8.1
8.14 · · ·

� 13th-note �



� No.254B約両方-5-10 �

No.254B約両方-5-10 （ 点） （ 分 秒）

割り算して、商を上から 2けた答えなさい。割り切れなければ四捨五入しなさい。（１問 20点）

(1) 62.124÷ 0.586 (2) 5.6911÷ 0.809

(3) 9193.3÷ 94.4 (4) 42.322÷ 8.53

(5) 4600.3÷ 6.09

� 13th-note �



� No.254B約両方-5-10 �

No.254B約両方-5-10 （ 点） （ 分 秒）

割り算して、商を上から 2けた答えなさい。割り切れなければ四捨五入しなさい。（１問 20点）

(1) 62.124÷ 0.586
110
106 · · ·

(2) 5.6911÷ 0.809
7.0
7.03 · · ·

(3) 9193.3÷ 94.4
97
97.3 · · ·

(4) 42.322÷ 8.53
5.0
4.96 · · ·

(5) 4600.3÷ 6.09
760
755 · · ·

� 13th-note �


